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a. \\ihat is IITNIL'/ [ixplain tlie sttrtcture oIHTML clocLlnlcnts.

b. Explain thc lbllou,ing HTMI- elentents rvith cxatrplc: i)inrages ii)list.
c, Writc thc c1ir,'isron ..clir,-- baseci l-lT'ML semantic strLlcturc clelrcrlts.
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Dcllne CSS. Exptain tl-re location of styles.2
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i]. Explain positioning elements in CSS. (0tt i\larks)
b. What is rcsponsive design? Explain [re four key cornporlents that makc rcsponsivc design

rvork. (0lt )llrks)

Moclule-3
a. What is Javascript'l Explain the advantages and disadvantages of clienl sicle scriptirrr

(0J \lrtrlis)
tr. Flolv Javascript cnrt bc linkccl to an HTML. (01 llarks)
c. ilricfll' dcscribe the docunrcnt Ob.jcct Model. (0ll )llrks)
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a. What are.javascript evcnts'l llxplain E,r,ent I-landlcr approachcs and ['.r,en'I'],pcs. (0tl ]lrrrks)
b. Define PHP'i Explairr the P[-lP qllote Llsage ancl concatcnation approaches. (Ott \larlis)

Module-4
a. Define Array, Brie fly explain the aray operations in PIiP u,ith example. (0(r \larks)
b. lllLrstrate how data rvill flow fiom t'lTML fom to PI'{P $ CET ancl S POST an'lr\'. (06 \larks)
c. Write a notc on $_SERVER Array. (0J \larks)

OR
Define class. Describe thc accessibility of a class lncn-rbe r.

Explain three main error rcporting 11ags.

Write a note on PHP crror and cxccption handling.

Modulc-5
What are cookies'l Explain horv it works.
What is caching? Explain two basic strategies ol caching rveb application.

OR
Writc a nLrtc on Arynchronous filc transfbrutation.
\\'hat is XML'l Write the syntax rulc for XML.
De scribe hor.r' Xlr'1L proccssing in PI-lP attcl Javascript.
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2 a. Explain the different data

following code
Sr : Load Rr, A 

rrr,, r {- Memory
/Rz +- (Rr) +
iRr <- (R:)/

b. List the types of static

in detail

5 a. What is arbikation?
, sketches.
b. Explain

OR
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S: :Move Rr, R:
S+ : Store B, Rr '"'
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Explain n detail.
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I a. Define machine learning.
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c. List and explain
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the task of conCopt learning.2 a. Define concept
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C.

OR
Describe maximum likelihood hypotheses for
Define Bayesian belief networks. Explain with an

Explain EM algorithm.
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10 a. Explain case-based

b. List and explain s of re
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3 a. Explain (i) Birthday prob Birthday attack
b.

4 a. Explain (08 Marks)
reduction

(08 Marks)
b. Explain

5 a. Explain (08 Marks)
(08 Marks)b. Explain
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10 a. List and explain in brief the WEP Confidentiality and Integrity Weakness. (08 Marks)
b. List the four design issues emerging fiom the study of GSM and LMTS and explain each in

brief" (08 Marks)
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I a. Explain evolution of storage
b. Discuss the key characteristics

2 a. What is protocol?
communications.

b. Explain two

module.
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for host to storage
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b, What is

4a.
b.
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What is NAS?

OR
Explain FCIP protocol stack.
Explain its components with neat
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a. Explain various storage infrastructure management activities
b. Explain information lifecycle management.
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b. Explain various

Module-5
security domains.
security measures of cloud environment.


